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QUESTION 1

A customer has an SVM with an SSD aggregate that is reaching capacity. They want to move the data to another SVM
with attached SATA drives. 

Which two ONTAP features will accomplish this task? (Choose two.) 

A. volume copy 

B. volume move 

C. volume rehost 

D. volume relocate 

Correct Answer: BC 

Reference: https://whyistheinternetbroken.wordpress.com/2016/06/08/volume-rehosting-ontap9/ 

 

QUESTION 2

Which two statements are true concerning FlexClone volumes? (Choose two.) 

A. A FlexClone volume can be created in a different aggregate than the parent volume if space is an issue. 

B. A FlexClone volume is created with the same language setting as its parent. 

C. A FlexClone volume is created, any LUNs present in the parent volume are already online and mapped. 

D. A FlexClone volume is a point-in-time, writable copy of the parent FlexVol volume. 

Correct Answer: BD 

Reference:
https://library.netapp.com/ecmdocs/ECMP1196986/html/GUID-284A0B23-DE4D-4E97-B333EF4646D2CB1D.html 

 

QUESTION 3

Click the exhibit button. 

Based on the QoS output from the storage controller, your database administrator is complaining of slow read and write
performance. 
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Referring to the exhibit, what would be two appropriate actions to improve performance for both reads and writes?
(Choose two.) 

A. Move the workload to an SSD aggregate. 

B. Apply a QoS maximum policy to the csdata-wid1234 workload. 

C. Add a Flash Pool to the existing aggregate. 

D. Upgrade the controller\\'s NVRAM. 

Correct Answer: BC 

 

QUESTION 4

An administrator added a spare disk to the data aggregate in an ONTAP system. The administrator immediately noticed
messages about the disk being partitioned. 

Why did this event occur? 

A. Disks on the same disk shelf were shared by both nodes. 

B. The RAID group to which the disk was added contained root partitions. 

C. The RAID was full and another RAID group was needed. 

D. The disk was larger than the other disks in the aggregate and needed to be right-sized. 

Correct Answer: A 

 

QUESTION 5

Which two statements are true about epsilon in a 4-node cluster? (Choose two.) 

A. Epsilon is used as a tie-breaker for determining a quorum. 

B. Epsilon is automatically assigned to the first node when a cluster is created. 

C. Epsilon is used for determining the up node in failover. 

D. Epsilon is automatically assigned to the last node added to a cluster. 

Correct Answer: AB 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sag%2FGUIDEFE1DEF4-8B87-4C4A-8E4E-C6C79F760710.html 
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